Mars A

Name:

Mixed using x tables

Key Skills — Time

Key Skills — Negative numbers

64 +8 =

180+ 6 =

A film starts at 10:45 and lasts

2 hours 37 mins. What time
will it finish?

Difference between -2 and
5=

0.4x0.3= 876 =+ 1000 = -6+14 =
Ox 8= 33.6 —32.6 = What time is shown?
/ 1 ¥ 1%'\& _
1 O — = Of 7= ' ' -8-9=
=7 X3 |Halfof490=
2.7<+9= 1 - Convert to 24hr digital |-7 + -5 =
7 9 3 X 48 time.
56 - 0.7 = 22.6 +32.5 = 11:05am
- 2 2 Difference between -17 and
12 =4 x 52 4 22 = o
- A watch reads 3:43pm but is
5 X - 35 25000 + 3200 = 10 mins slow. What will the
2400 = 1200 = 8)(2)(5: z::it:sa?ltlmebemlhrzo 34-52 =
3.6+-1.2= Double 4375 =




Mars B

Name:

%of54=

Mixed using x tables Mental skills Key Skills - Time Key Skills — Negative numbers
1.2 x8 = 13 x4 x5 = Whj\ttime isshown? |.8 +20 =
22 = 43 =
6x2-= 19x2= 9-7=
-— . _ A watch reads 5:43pm but is
8 X 5 - 676 + 1000 = 10 mins slow. What will the
actual time be in 1 hr 30
14+ 7 = Double 2375 = mins? -8+-4=
6 x :l =42 |12000 +3400 =
= — 2 2 _ A film starts at 11:55 and lasts | Difference between -7 and
1'6 * B 7+ 2% = 2 hours 27 mins. What time | 3 =
. _ 3 _ will it finish?
180+ 6 = 2 X 16 =
0.4x0.3= 3x4x10= 35-72=
Ox 8= Half of 16.8 = C.onvert to 24hr digital
time. -
\ / 100 — 50.4 — 25.5 = 5:35pm Difference between -13 and

24 =




